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X% | ndf 4.261e+04 /14
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X% | ndf 7.865e+04 / 14
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6.357e+04 / 14
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Upper Limit Of SawTooth
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Lower Limit of SawTooth

lowerval

- [ Entries 20
— 2_ .................................................................................................. T SR ]
% — Mean -1.62e+04
Q LB [ RMS 48.31
- m
D S e IR Ll
5 F
o Al lrki i e R B H 5 f .
- |

1_2:_ ........................................................................................................................................................................................

L e S BN VR § B SN N S R
O L S,
N S
O o e
O

O : ] ] ] ] | ] ] ] ] | ] ] ] | ] ] ] ] | ] ] ] | ] ] ] | ] ] ] ]

-16400 -16350 -16300 -16250 -16200 -16150 -16100 -16050



SawTooth Period

periodicity
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